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DU MA MSc Statistics

Topic:- DU_J19_MA_STATS

1) If the number of items produced in a factory during a week is a random variable with mean 100 and
variance 400, then the probability that this week’s production will be at least 130 is: [Question ID =
26192]

1. 1/2 [Option ID = 44763]
2. < 1/2 [Option ID = 44765]
3. 4/9 [Option ID = 44764]
4. < 4/9 [Option ID = 44766]

Correct Answer :-
e 1/2 [Option ID = 44763]

2) If the correlation coefficient between X and Y is +0.73, then the correlation coefficient between 3-2X
and 5-3Y is: [Question ID = 26184]

1. +0.73 [Option ID = 44732]
2. 1 [Option ID = 44734]

3. (0.73)2 [Option ID = 44733]
4. -0.73 [Option ID = 44731]

Correct Answer :-
e -0.73 [Option ID = 44731]

3) If Karl Pearson’s coefficient of skewness of a distribution is 0.32, its mean is 29.6 and standard
deviation is 6.5, then mode of the distribution is: [Question ID = 26190]

1. 27.51 [Option ID = 44756]
2. 27.00 [Option ID = 44758]
3. 27.5 [Option ID = 44757]

4. 27.52 [Option ID = 44755]

Correct Answer :-
e 27.52 [Option ID = 44755]

4) In any discrete series ( when all the values are different), the relationship between standard deviation
(SD) and mean deviation (MD) is

[Question ID = 26202]

1. SD = MD [Option ID = 44803]
2. SD < MD [Option ID = 44804]
3. SD = MD [Option ID = 44805]

. SD « MD

[Option ID = 44806]

Correct Answer :-
« SD = MD [Option ID = 44803]

5) ANOVA procedure is used for data that was obtained from four groups each comprised of five
observations. The degrees of freedom for critical value of F are: [Question ID = 26215]

1. 3 and 17 [Option ID = 44858 .
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3. 3 and 16 [Option ID = 44857]
4. 3 and 20 [Option ID = 44856]
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Correct Answer :-
e 3 and 19 [Option ID = 44855]

6) How many two factor interactions are there in a 2x2x2 Factorial design? [Question ID = 26213]

1. 2 [Option ID = 44847]
2. 1 [Option ID = 44850]
3. 3 [Option ID = 44848]
4. 4 [Option ID = 44849]

Correct Answer :-
e 2 [Option ID = 44847]

7) The Central Limit Theorem is important in Statistics because: [Question ID = 26194]

1. For any population, it says the sampling distribution of the sample mean is approximately normal, regardless of the
sample size [Option ID = 44772]

2. For any sized sample, it says the sampling distribution of the sample mean is approximately normal. [Option ID =
44774]

3. For a large n, it says the population is approximately normal [Option ID = 44771]

4. For a large n, it says the sampling distribution of the sample mean is approximately normal, regardless of the shape
the population [Option ID = 44773]

Correct Answer :-
« For a large n, it says the population is approximately normal [Option ID = 44771]

8) Under proportional allocation in stratified sampling, the size of the sample from each stratum depends
on:

[Question ID = 26212]

1. Size of the stratum [Option ID = 44844]
2. Population size [Option ID = 44845]

3. Total sample size [Option ID = 44843]
4. All of the above [Option ID = 44846]

Correct Answer :-
» Total sample size [Option ID = 44843]

9) The blood pressure (B.P.) of a group of patients was determined. After administering a medicine, the
B.P. was measured again. To determine the significance of the medicine, the test to be applied is:
[Question ID = 26195]

1. Z - test [Option ID = 44775]

2. Paired t- test [Option ID = 44776]
3. x2- test [Option ID = 44777]

4. F-test [Option ID = 44778]

Correct Answer :-
e Z -test [Option ID = 44775]

10) The standard deviation of a distribution is 4. The value of the fourth central moment ( pg) in order
that the distribution be mesokurtic should be [Question ID = 26197]

1. Equal to 3 [Option ID = 44786]

2. Equal to 768 [Option ID = 44785]
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V2 = B2—3, 1’1:+\/E
V2=B+3, n=B—1
Y2=F+3, n=+/h
o=l HeEqllhtl
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Y2=Pp2—3, n= +\/E

Let X and Y have the joint probability mass function

P(X:x,}’:y)z?,i, =13 0 we=12 3
x

Then the value of the conditional expectation E(Y|X :3) is:
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8, and the sign of 8, — 6, only

6, only

[6, — 6,] only
8, only

If X.X,....X_ is arandom sample from a normal population with mean x and
variance o’ (unknown), then  the

Jn (X -p)

sampling  distribution  of

i 2_3a)
— .5 e B (XI.—X) . 18:
S n-1 =1
5.
N[,u, i3 ]
il
5.
N[ﬂu,g—]
il
A random sample x;, x5+ -

x, of size nis taken from the population

flx,a) = (@ +1)x%0 < x = 1. The maximum likelihood estimate of « is
given by

H——)]

Lf:l log x;”~
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T
izllﬂg x;

—1+ (/)

The general solution of exact differential equation  (x% —ayv)dx +
(y2—ax)dy = 0 is

x} — 6axy + y* = ¢
x? + 6axy + y* = ¢

x} —3axy + y* = ¢

Howe oM

— sin 1% e sl Wi
If z= sin + tan then xdx+}?d}r equals

|

¥ -

x34y®
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If X is a binomial variate with parameters (5, 8) then an unbiased estimator of

8(8 —1) is

X(X-1)
20

(5x-x%)
20

(x2-5x)

20

X(1-X)

20

If the mean deviation of X from 1ts mean i1s 5, then the mean deviation of
y=2x+3 from its mean is:

LetX,and X, be independent random variables with respective moment

3 ;
generating functions as M, (7)= [% - i e’} and M, ()= i

Then the value of P(X, + X, = 0)is:

00
64
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64

ﬂ e_z'

64

ge_z

64

81 ,

64

If the correlation coefficient of zero order in a set of 3 variates were equal to p

each, then the multiple correlation R, is equal to:

Let x be the sample mean of observations drawn from a distribution with

probability density function as

1
f(x):@, U{X{ﬁg

0 otherwise

Which one of the following is a method of moment estimator of 67

~J
2|

=

(% B TC I -
e
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If the scores (X) in Mathematics and (Y) in Statistics of ten students have the
following summarized figures:

X600, F Y70 % XE=530 ¥ Vr650, ¥ X¥ =40
Then the correlation coefficient between the two scores is:

Let X be the mean of a random sample from N(u,1) population. If the null

hypothesis Hy: u = p, is rejected when X > g , then the size of the test will

be:
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xt+y, 0<x=LO0<yp<l
f(x,y)_{

then the conditional p.d.f. of X given Y =y is:

0, otherwise,

If y = sinpx + cospx then v, (the n® derivative of v wrt x)equals

p"[1+ (—1)"sin2px] Yz

p"[1 + sin2px] Y

Let X,.X,...be a sequence of independent and identically distributed Chi-
square random variables, each having 4 degrees of freedom. Define

SH:ZX;", L B L | ﬂi},ﬂ, as n —> o, then 4 1is equal to:
=1 n
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If p is the correlation coefficient between X and Y, then the minimum value of

Var(Y —aX), over all the values of a, is given by:

(l—pE)Var(}’)
pVar(X)
Var(}’)
prar(Y)
Var(X)
pVar(Y)

There are 3 persons A, B, C. The probability that A alone will survive for 10

years 1s % and the probability that C alone will die within 10 years is %

Assuming that the events of the survival of A, B and C can be regarded as
independent, the probability of surviving 10 years for person B is:

Al W oo
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TS
fquLﬂ?— dx ECLEIE.IS

Wainx t/cosx

/2
/4

The following svstem of linear equations
xg T2x; + x5 = 3
2x; +3x;, + x5 = 3

3x; +5x, +2x5 = 1

Let r be the observed number of successes in n Bernoulli trials with probability

7 of success. Then M.V.U.E. of m (1-m) is:

f- D
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Given that the roots of the equation x® — px? + gx —r =0 are in GP.
{Geometric progression), then
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